Exercise Session 8

Multiple choice questions:

1. A relatively mild period of falling incomes and rising unemployment is called a(n)
a. depression.
b. recession.
C. expansion.

d. business cycle.

2. Which part of real GDP fluctuates most over the course of the business cycle?
a. consumption expenditures
b. government expenditures
c. investment expenditures

d. net exports

3. According to classical macroeconomic theory, changes in the money supply affect
a. nominal variables and real variables.
b. nominal variables, but not real variables.
c. real variables, but not nominal variables.

d. neither nominal nor real variables.

4. The aggregate-demand curve shows the
a. quantity of labor and other inputs that firms want to buy at each price level.
b. quantity of labor and other inputs that firms want to buy at each inflation rate.

c. quantity of domestically produced goods and services that households want to buy at each
price level.

d. quantity of domestically produced goods and services that households, firms, the government,
and customers abroad want to buy at each price level.

5. If countries that imported goods and services from the Czech Republic went into recession, we
would expect that CR net exports would

a. rise, making aggregate demand shift right.
b. rise, making aggregate demand shift left.
c. fall, making aggregate demand shift right.
d. fall, making aggregate demand shift left.



6. The long-run aggregate supply curve shows that by itself a permanent change in aggregate demand
would lead to a long-run change

a. in the price level and output.
b. in the price level, but not output.
c. in output, but not the price level.

d. in neither the price level nor output.

7. According to the wealth effect, one of the reasons for the slope of the aggregate demand curve is
that falling prices

a. increases the value of money holdings so consumer spending increases.
b. decreases the value of money holdings so consumer spending increases.
c. increases the value of money holdings so consumer spending decreases.

d. decreases the value of money holdings so consumer spending decreases.

8. Which of the following would NOT cause a shift in AD?
a. a reduction in income tax.
b. a reduction in interest rates.
c. an increase in government spending.

d. a fall in the cost of production.

9. Which of the following can explain the upward slope of the short-run aggregate supply curve?
a. nominal wages are slow to adjust to changing economic conditions
b. as the price level falls, the exchange rate falls
c. an increase in the money supply lowers the interest rate

d. an increase in the interest rate increases investment spending

10. An increase in the expected price level shifts the
a. short-run and long-run aggregate supply curves left.
b. the short-run but not the long-run aggregate supply curve left.
c. the long-run but not the short-run aggregate supply curve left.
d. neither the long-run nor the short-run aggregate supply curve left.

11. Suppose the economy is initially in long-run equilibrium. Then suppose there is an increase in
military spending. According to the model of aggregate demand and aggregate supply, what happens
to prices and employment in the short run?

a. prices rise, employment rises

b. prices rise, employment falls



c. prices fall, employment falls

d. prices fall, employment rises

12. Suppose the economy is initially in long-run equilibrium. Then suppose there is an increase in
military spending. According to the model of aggregate demand and aggregate supply, what happens
to prices and employment in the short run?

a. prices rise, employment rises
b. prices rise, employment falls
c. prices fall, employment falls
d. prices fall, employment rises

13. An increase in the price level induces people to hold
a. more money, so they lend more, and the interest rate falls.
b. more money, so they lend less, and the interest rate rises.
c. less money, so they lend less, and the interest rate rises.

d. less money, so they lend more, and the interest rate falls

14. When taxes increase, consumption decreases
a. as shown by a movement to the left along the aggregate demand curve.
b. shifting aggregate demand to the left.
c. shifting aggregate supply the left.
d. which does none of the above.

True/False questions:
1. The recessions associated with the business cycle come at regular intervals.

2. An increase in the money supply causes the interest rate to fall, investment spending to rise,
and aggregate demand to shift right.

3. Because the price level does not affect the long-run determinants of real GDP, the long-run
aggregate-supply is vertical

4. Over time technological progress shifts the aggregate supply curve to the right making the
inflation rate higher than otherwise.

Answer the following questions:



1) Explain why the long-run aggregate-supply curve is vertical. Explain three theories for why
the short-run aggregate-supply curve is upward sloping.

2) What might shift the aggregate-demand curve to the left? Use the model of aggregate
demand and aggregate supply to trace through the effects of such a shift?

3) For each of the three theories for the upward slope of the short-run aggregate-supply curve,
carefully explain the following:

a. how the economy recovers from a recession and returns to its long-run equilibrium without
any policy intervention.

b. what determines the speed of that recovery?

4) Suppose that a decrease in the demand for goods and services pushes the economy into
recession. What happens to the price level? If the government does nothing, what ensures that
the economy still eventually gets back to the natural rate of output?

5) Consider the graph below for the following four questions

Price
Level
A
D B
C
Quantity
of Qutput
i) An increase in the money supply would move the economy from C to

a. Bin the short run and the long run.
b. D in the short run and the long run.
c. Bin the short run and A in the long run.
d. Din the short run and C in the long run



ii) If the economy starts at A and there is a fall in aggregate demand, the economy
moves
a. back to A in the long run.
b. to B in the long run.
c.to Cin the long run.
d. to D in the long run.
iii) If a change in aggregate demand shifts the economy from A to D, the government
might use fiscal policy to move the economy
a. back to A.
b. to B.
c.toC.
d.toD
iv) If a change in aggregate supply shifts the economy from C to D, a government
concerned about employment might use fiscal policy to move the economy
a.to A.
b. to B.
c. back to C.
d.toD.

6. Suppose that consumers anticipate higher future incomes. What does this do to output and
the price level? Explain. If the sticky wage theory is right what happens to real wages and how
does this lead to the change in output?



